Iinuteman
PowerBoss’®

Ford 1.3 L Engine
Service Parts
Manual



’Vlw: Ford® 1.3L Engine Gasket Kits Parts
PowerBoss

ENGINE GASKET KIT — UPPER - 2
NOT INCLUDED IN KIT -

ENGINE GASKET KIT — OIL PAN - 3
NOT INCLUDED IN KIT - «

FSO1

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 136

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Minuteman Ford® 1.3L Engine Gasket Kits Parts
PowerBoss *

FS01

'REF # PART # DESCRIPTION QTY |
o 3340000 KIT/FLD-GASK OVERHAUL 1.3 o
4 3340001 | GASKET FUEL PUMP FORD® 1.3L 1
6 | 3340168 GASKET WATER PUMP FORD® 1 3L 1
7 3340104 SEAL FT COV FORD® 1.3L 1
8 3340004 GASKET FRONT COVER FORD® 1 3L T
9 3340005 GASKET RR RETAINER FORD® 1.3L N R
10 | 3340110 'SEALCRKRRFORD®13L 1
NOTE: _. 1) Individual géskets are listed on apbi}géble par-t—s pages.
|2) Engine Gasket Kit—Oil Pan—3 Not included in kit.

END OF THIS SECTION

L i

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 137

PowerBoss® 82 Sweeper/Scrubber



’WM&: Ford® 1.3L Cylinder Block and Related Parts Parts
PowerBoss'

11 -~

FS02

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 138

NOTE: Ford®VSG 411-413 engines only, PowerBoss® 82 Sweeper/Scrubber



Minuteman Ford® 1.3L Cylinder Block and Related Parts Parte
PowerBoss

FS02

REF # PART # DESCRIPTION QTY
1 3340007 BLOCK CYLINDER FORD® 1.3L 1
2 3340008 BLOCK CYLINDER ASSY FORD® 1.3L 1
3 3340009 PLUGS EX 1.639 DIA FORD® 1.3L 2
4 3340010 PLUG 51MM (2.01) FORD® 1.3L 1
5 3340012 'PLUG 1/4 NPT FORD® 1.3L 3
6 3340011 'PLUG 1/4 NPT FORD® 1.3L | 1 |
7 3340013 'PLUG BALL OIL 11MM FORD® 1.3L T
8 3300387 'SENDER-OIL PRESSURE 1
9 3340015 'COVER SWITCH FORD® 1.3L 1
10 3340016 'ADAPTER FORD® 1.3L 1
11 3340017 LINER CYLINDER FORD® 1.3L . AR
12 3340018 BOLT MAIN BRG CAP FORD® 1.3L 10
13 3340019 TRANSDUCER INGITION FORD® 1.3L 1
14 3340020 SCREW M6 X 14 FORD® 1.3L 1

END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 139

PowerBoss® 82 Sweeper/Scrubber



inuteman : Ford® 1.3L Cylinder Head, Valves and Related Parts Parts
PowerBoss'

20

FS03

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 140

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



inuteman : Ford® 1.3L Cylinder Head, Valves and Related Parts  parts
PowerBoss

FS03

REF#/  PART#  DESCRIPTION QTY
BERR 3340021 HEAD ASSY CYL FORD® 1.3L 1
2 3340022 GASKET CYL HEAD FORD® 1.3L B :
3 3340023 BOLT CYL HEAD FORD® 1.3L 10
4 3340024 DOWEL CYL TO BLOCK FORD® 1.3L 2
5 3340025 VALVE INTAKE STD FORD® 1.3L N 4
6 3340027 VLV EXHAUST STD FORD® 1.3L 4 |
7 3340029 SPRING VLV FORD® 1.3L 8
8 3340030 SEAL VLV STEM FORD® 1.3L 8
9 3340031 RETAINER FORD® 1.3L 8
10 3340032 LOCK VLV SPRING FORD® 1.3L 16
11 3340033 COVER ROCKER ARM FORD® 1.3L 1
12 3340034 GASKET ROCKER ARM COV FORD® 1.3L - 1
13 3340035 SCR ROCKER COV-HEAD FORD® 1.3L 4
14 3340036 WASHER FLAT 6MM FORD® 1.3L 4
15 3300386 | SENDER-TEMP 1
e 3340009 PLUGS EX 1.639 DIA FORD® 1.3L | 1
17 3340038 CAP OIL FILL FORD® 1.3L 1
18 3340040 |INSERT IN VLV ST FORD® 1.3L 4
19 3340040 INSERT IN VLV ST FORD® 1.3L 4
20 3340031 RETAINER FORD® 1.3L 1

END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 141

PowerBoss® 82 Sweeper/Scrubber




= ®
Inuteman A Ford® 1.3L Front Cover Assembly and Related Parts Parts
PowerBoss

FS04

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 142

- ®
NOTE: Ford®VSG 411-413 engines only. PowerBoss™ 82 Sweeper/Scrubber



Minuteman

Ford® 1.3L Front Cover Assembly and Related Parts Parts

PowerBoss ~ —
'REF # PART # DESCRIPTION . oaQty |
2 3340104 SEAL FT COV FORD® 1.3L - I T
3 3340004 GASKET FRONT COVER FORD® 1.3L 1
4 3340045 BOLT FT COV TO BLK M6X50 1
5 | 3340169 BOLT M6X40 FT COV TO BLK 3
6 | 3340047 BOLT FT COV TO BLK M6X18 4
7 3340048 WASHER LOCK M6 FORD® 1.3L 8
8 3340049 CHAIN ASSY TIMING FORD® 1.3L 1

END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 143

PowerBoss® 82 Sweeper/Scrubber



| AU GIuElsM Ford® 1.3L Camshaft and Valve Control

PowerBoss *

FS05

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 144

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Minuteman * Ford® 1.3L Camshaft and Valve Control Parts

PowerBoss”*
o FS05
REF # | PART # DESCRIPTION QTY
1 3340050 CAMSHAFT FORD® 1.3L o 1
2 3340051 BRNG FRT STD FORD® 1.3L 1
3 3340053 BRG CENT & RR STD FORD® 1.3L 2
4 3340055 ' DOWEL FORD® 1.3L 1
5 | 3340056 'PLATE THRUST FORD® 1.3L 1
s 3340031 RETAINER FORD® 1.3L 1
7 3340058 BOLT M6 X 16 FORD® 1.3L >
8 3340059 SPROCKET CAMSHAFT FORD® 1.3L .
9 3340057 RETAINER CAMSHAFT FORD® 1.3L 1
10 3340016 ADAPTER FORD® 1.3L 2
11 3340049 CHAIN ASSY TIMING FORD® 1.3L IR
12 3340062 TENSIONER FORD® 1.3L 1
13 3340063 BOLT M6 X 55 TEN TO BLK -' 1 Q
14 3340064 BOLT M6 X 16 TEN TO BLK 1 |
15 | 3340065 WASHER 1/4 LOCK FORD® 1.3L - 2
16 3340066 ARM TENSIONER FORD® 1.3L 1
7 3340067 PIN TENSIONER FORD® 1.3L B 1
18 3340068 TAPPET STD FORD® 1.3L ) 8
19 3340069 ROD VLV PUSH FORD® 1.3L R 8
20 3340070 ARM VLV RT FORD® 1.3L 4
20 3340071 ARM VLV LT FORD® 1.3L 4
21 3340072 SCR VLV ARM FORD® 1.3L 8
22 3340073 SUPPORT ARM SHAFT FORD® 1.3L 4
23 3340074 WASHER B10 X 20 X 2.5 FORD® 1.3L 4
24 3340075 BOLT ROCK SUPPORT FORD® 1.3L 4
25 3340076 SPRING LOCATING FORD® 1.3L 3
26 3340077 SHAFT ASSY 1
27 3340078 PLUG SHAFT END FORD® 1.3L 2
28 3340079 WASHER SPRING FORD® 1.3L 2
29 3340080 WASHER FLAT TYPE FORD® 1.3L 2
30 3340081 PIN COTTER 3/32 X 7/8 FORD® 1.3L 2
END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 145

PowerBoss® 82 Sweeper/Scrubber



(Y HaIViTue-TalY  Forge 1,31 Crankshaft, Piston and Related Parts  parts
PowerBoss

FS08

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 146

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Minuteman * SRR Crankshaft, Piston and Related Parts

PowerBoss "’ —
REF # PART # DESCRIPTION QTY

1 3340082 CRANKSHAFT ASSY FORD® 1.3L 1

2 | 3340083 MAIN BRG CRK LOWER STD 5

2 | 3340091 MAIN BRG CRK UP STD FORD® 1.3L ' 5

3| 3340099 WASHER MAIN BRG STD FORD® 1.3L | 2

4 3340101 PULLEY CRK 2 GROOVE FORD® 1.3L 1

5 3340102 BOLT PULLEY TO CRK FORD® 1.3L 1

6 3340103 WASHER PULL TO CRK FORD® 1.3L 1

7 3340104 SEAL FT COV FORD® 1.3L 1
8 3340105 SLINGER OIL FORD® 1.3L 1 |
9 3340106 SPROCKET CRK FORD® 1.3L 1 |

10 | 3340107 KEY WOODRUFF FORD® 1.3L | 1

11 3340005 GASKET RR RETAINER FORD® 1.3L | 1

12 3340100 RR RET ASSY FORD® 1.3L 1

13 3340110 SEAL CRK RR FORD® 1.3L 1

14 3340111 WASHER M8 LK FORD® 1.3L 4

15 3340112 BOLT M8 X 20 FORD® 1.3L 4

16 3340113 PIS,PIN RG ASSY STD FORD® 1.3L 4

17 3340116 RING SET PISTON STD FORD® 1.3L - 4

18 3340119 |ROD ASSY CONN FORD® 1.3L o 4

19 3340120 |BOLT RD CONN FORD® 1.3L 8

20 3340121 'BRG ROD CONN STD FORD® 1.3L 8

21 3340126 DOWEL PIN CONN ROD FORD® 1.3L - 8

END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 147

PowerBoss® 82 Sweeper/Scrubber



||/ HalVicTiETaM  Forge 1.3L Oil Pump, Oil Pan and Related Parts
PowerBoss

FS07

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 148

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Min uteman ‘f
PowerBoss”

T

| REF # PART # DESCRIPTION ‘ QTY
1 3340133 PUMP OIL GR FORD® 1.3L 1 |
2 3340225 BOLT M8 X 25 ALT FORD® 1.3L B 3

3 3340135 WASHER M8 LOCK FORD® 1.3L N 3
4 3340136 GSKT OIL PP & O BLK FORD® 1.3L 1
5 3340137 TUBE ASSY OIL PUMP FORD® 1.3L 1
6 3340138 ROTOR & SHAFT FORD® 1.3L 1
7 3340139 SEAL COV PLATE OIL FORD® 1.3L 1
8 3340140 GEAR OIL FORD® 1.3L 1
9 3340141 PIN DRIVE GEAR FORD® 1.3L 1
10 3340142 PLUNGER OIL FORD® 1.3L 1
11 3340143 SRPING OIL FORD® 1.3L 1
12 3340144 PLUG OIL PUMP FORD® 1.3L 1
13 | 3340145 DIPSTICK OIL LEU FORD® 1.3L 1
14 3340146 TUBE OIL LEV IND FORD® 1.3L 1

15 3303662 FILTER-OIL 1.3L 1
16 3340148 OIL PAN W/ PLUG FORD® 1.3L 1
17 3340149 BOLT MS6 X 14 OIL PAN FORD® 1.3L 18
18 3340065 WASHER 1/4 LOCK FORD® 1.3L 18
19 3340151 KIT OIL PAN GASKET FORD® 1.3L 1
20 3340152 PLUG OIL DRAIN FORD® 1.3L 1
21 3340153 GASKET OIL PAN PLUG FORD® 1 3L 1

END OF THIS SECTION :

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 149

PowerBoss® 82 Sweeper/Scrubber



‘ W__m uteman M Ford® 1.3L Fan, Water Pump, Thermostat & Related Parts Parts
PowerBoss

FS08

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 150

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



= ®
inuteman . Ford®1.3L Fan, Water Pump, Thermostat and Related Parts
PowerBoss'

FS08

REF # PART # DESCRIPTION |

QTY
K 3340154 FAN 6-BLADE FORD® 1.3L 1
L2 3340155 STRAP FAN FORD® 1.3L 1
3 3340159 BOLT M6 X 20 FAN BD 2
4 3340157 SPACER FAN FORD® 1.3L 1
5 3340158 PULLEY WATER PUMP FORD® 1.3L 1
6 3340169 BOLT M6X40 FT COV TOBLK 3 |
7 3340036 WASHER FLAT 6MM FORD® 1.3L 3 |
8 3340160 BELT WATER PUMP TO ALT ) 1
9 3340161 CONN WATER OUT FORD® 1.3L 1
13 3340162 GASKET WATER OUT FORD® 1.3L 1
14 | 3340163 BOLT M8 X 20 THER FORD® 1.3L 2
15 3340164 WASHER M8 LOCK THER FORD® 1 3L 2
16 3340165 THER ASSY 160 DEG FORD® 1.3L 1
17 3340249 WATER PUMP 1.3L CURRENT 1
18 3340168 GASKET WATER PUMP FORD® 1.3L | 1
19 3340046 BOLT FT COV & W/P TO BLK 3
20 3340048 WASHER LOCK M6 FORD® 1.3L | 3
21 3340171 HOSE BY-PASS FORD® 1.3L 1
22 3340172 CLAMP HOSE 1.12 FORD® 1.3L 2
23 3340171 HOSE BY-PASS FORD® 1.3L 1
END OF THIS SECTION 4

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 151

PowerBoss® 82 Sweeper/Scrubber



Inuteman . Ford® 1.3L Fuel Filter, Fuel Pump and Related Parts Parts
PowerBoss

FS09

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 152

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Inuteman . Ford® 1.3L Fuel Filter, Fuel Pump and Related Parts Parts
PowerBoss

FS09

| REF # PART # DESCRIPTION - QTY
1 3340179 FILTER ASSY-FUEL FORD® 1.3L 1
2 3340181 ADAPTER FUEL PUMP FORD® 1.3L 1
3 3340181 ADAPTER FUEL PUMP FORD® 1.3L 1
4 3340244 CLAMP FUEL HOSE FORD® 1.3L 1
5 3340182 HOSE FUEL 5/16 ID X 18 1
6 3340183 FUEL PUMP FORD® 1.3L 1
7 3340001 GASKET FUEL PUMP FORD® 1.3L 1
B 8 3340185 SCR & WASHER M8 X 30R 2 |
END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 153

PowerBoss® 82 Sweeper/Scrubber



Inuteman . Ford® 1.3L Intake, Exhaust Manifold and Related Parts Parts
PowerBoss"

FS10

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 154

NOTE: Ford®VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



Minuteman ©

PowerBoss*
'REF#|  PART#  |DESCRIPTION -oaQry |
R 3340176 MANIFOLD INTAKE FORD® 1.3L | 1 |
2 3340177 | GASKET INT MANIFOLD FORD® 1.3L 1
3 3340178 BOLT M8X25 INTAKE FORD® 1.3L 6
9 3340156 BOLT FAN TO SPACER FORD® 1.3L 1
10 3340187 GASKET EX MANIFOLD FORD® 1.3L 4
11 3340188 STUD M8X27.5 MAN TO CYL 8 |
12 3340189 NUT M8UB5 MAN TO CYL FORD® 1.3L 8 |
18 3340190 ADAPTER VAC LINE FORD® 1.3L 1
19 3340245 | SENSOR MANIF TEMP FORD® 1.3L 1
28 3340251 1.3 KIT MANIFOLD PLUG 1
29 3340250 1.3 PLUG INTAKE MANIFOLD 1
END OF THIS SECTION
|
| -

]
|
|
l
J

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 155

PowerBoss® 82 Sweeper/Scrubber



'V'L"'um__"_'ﬂ'lf Ford® 1.3L Alternator, Regulator and Related Parts  parts
PowerBoss

FS12

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 156

NOTE: Ford® VSG 411-413 engines only. PowerBoss® 82 Sweeper/Scrubber



- ®
Inuteman Ford® 1.3L Alternator, Regulator and Related Parts Parts
PowerBoss

FS§12

| REF # PART # DESCRIPTION QTY
1 3340211 |ALTERNATOR 55 AMP 1.3L FORD® 1.3L 1
6 3340216 REGULATOR ASSY ALT FORD® 1.3L 1
7 3340216 REGULATOR ASSY ALT FORD® 1.3L 2
8 3340218 BRKT MNT ALTENATOR FORD® 1.3L 1 |
9 3340219 ARM AJUSTING ALTENATOR 1
10 3340220 BOLT M10 X 25 ENG FORD® 1.3L 2
11 3340221 BOLT M8 X 40 ACT TO BRKT 1
12 3340222 BOLT M8 X 50 ALT TO BRKT 1
13 3340223 NUT M8 ALT TO BRKT FORD® 1.3L 2
14 3340224 WASHER M8 FLT ALT TO BRK 3
15 | 3340225 BOLT M8 X 25 ALT FORD® 1.3L 1
16 3340226 BOLT M8 X 20 ALT FORD® 1.3L 1
17 3340227 WASHER M8 LK ACT FORD® 1.3L 1
18 3340160 BELT WATER PUMP TO ALT

END OF THIS SECTION

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 157

PowerBoss® 82 Sweeper/Scrubber



IVIMZ Ford® 1.3L Starter Motor and Related Parts  p.qs
PowerBoss

FS13

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 158

@
NOTE: Ford® VSG 411-413 engines only. PowerBoss™ 82 Sweeper/Scrubber



Minuteman * Ford® 1.3L Starter Motor and Related Parts o
PowerBoss -

FS13
| REF # PART # DESCRIPTION QTY
i 1 : 3340248 STARTER 1.3 AFTER 7/24/96 1 !

| END OF THIS SECTION —1'
| | 1
i
| ] ]
|
i
| _ -
| : - |
* T —
|
E
|
| 1
| - |
N e A
‘~ — -
| o L - | ]
1 | i ]
L z | L ]

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 159

PowerBoss® 82 Sweeper/Scrubber



Inuteman Ford® 1.3L Distributorless Ignition Coil, Module, Spark Plugs & Related Parts

. Part
PowerBoss" —

FS14

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 160

@
NOTE: Ford®VSG 411-413 engines only. PowerBoss™ 82 Sweeper/Scrubber



Minuteman ®

® Ford® 1.3L Distributorless Ignition Coil, Module, Spark Plugs & Related Parts Parts
PowerBoss
' REF # PART # DESCRIPTION QTY
1 3340233 IGNITION ASSY FORD® 1.3L 1
2 3340234 SCR M8 X 14 IG 3
3 3340235 CONTROL ASSY IGNITION 1 !
4 3340236 WIRE ASSY SP PLUG #1 1 |
5 3340237 WIRE ASSY SP PLUG #2 1
6 3340238 WIRE ASSY SP PLUG #3 1
7 3340239 WIRE ASSY SP PLUG #4 1
8 * 3340240 SEPERATOR IGNITION WIRE 1
e 3340241 SEPARTOR IGNITION WIRE 1
11 3340242 SPARK PLUG FORD® 1.3L 4
3* 3332746 IGNITION CONTROL MODULE-SP N 1
3* 3332747 FORD HARNESS ENGINE-SP 1
3* 3332748 FORD-ENGINE HARNESS JUMPER-SP 1
3* 3332749 FORD SENSOR MAP-SP 1
END OF THIS SECTION

'NOTE: * Indicates items to be used after January 2002.

Minuteman PowerBoss, Inc. Copyright 2004 PAGE 161

PowerBoss® 82 Sweeper/Scrubber




